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MENSURATION - 3D ASSIGNMENT

The curved surface area of a right circular cone of height 15 cm and base
diameter 16 cm is

15 Q16 e wgapd 16 GF5 allL@wd OCsmewi @ GhTaulLd  gnlblNe
SUemETLITLIL

a. 60z cm? b. 68 7 cm? c. 1207 cm? d. 136 7 cm?

The ratio of the respective heights and respective radii of two cylinders are
1:2 and 2:1 respectively. Then their respective volumes are in the ratio.

Brewi® o (Hevendemer o wigmiseT (WpeopGui 1 : 2 wBEpID SleuBBler SLImIS6IT
wempBuw 2 : 1 Pl aldsmseailellplile, SieuBler 6T Sieneadeiler alslgLD
a. 4:1 b. 1:4 a2l d.1:2

If the total surface area of a cone of radius 7cm is 704 Cm?, then find its slant height.

7 Qe85 syyapmlwl @ daibler Grgsiugi 704 0F.152 seflsd iH6ar Fmujuyn?
a.32cm b. 25 cm c.20 cm d.24 cm

4 persons live in a conical tent whose slant height is 19cm. If each person
require 22cm? of the floor area, then find the height of the tent.

gruyugb 19 G&.18 2 LW @@ dnlblelgel Fnl TTHHe 2 6MGem @ BUHDBE 22
g.05.15 Cxheveuwimerr UL eleid OdTemi® 4 BUTH6T EMHBHBBEIT 6leN60 FnlDLN6oT
® _WJLD 6T60T60T7

a.18.25cm b.17.5cm c.12.25cm d. none of these

If the ratio of radii of two spheres is 4:7, find the ratio of their volumes.

B Gamemmisellet omiseier aldlsd 4 : 7 el SeuBmledt HeoT  SieNelent
A& HLb

a.16:49 b. 64 : 49 c.16:343 d. 64 : 343

The difference between T.S.A and C.S.A of hemisphere is
SImIHCaTenGHFH &  QOTSHSILTIIBEGSD WLBBID  sumerLuFIIBGL Qoo Cuwi e
Al SHHWITFLD

a. gﬂ'RB b. §7Z'R3 c. 3r? d. zr?
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A lead pencil is in the shape of right circular cylinder. The pencil is 28 cm
long and its radius is 3 mm. If the lead is of radius 1 mm, then find the

volume of the wood used in the pencil.

R Oueidlevrengdl o GBT el 2 (Hewel augalled 2 6iTengl. OCueaFleder Herd
28 Q515 BB BHET g 3 WS GueadlelaneT  DIMWbHS  ewLoUTest
(Fgm.eoul)-er sugb 1 WS etefled, OQuenidFled  Hwmflds  UwWETUGSHSUILIL L
OJLILeVENBUTGT H6oT SieTTenaldh SIS,

a.7.04 cm3 b. 8.04 cm3 c. 7.4 cm3 d. 8.04 cm3

The radius of a spherical balloon increases from 12cm to 22cm as air being

pumped into it. find the ratio of the surface area of the balloons.

12 Q.15 suypeiten Gsmem eugeu UsuTeled &STBHI OCFeISHUILGL Burg DiFest
oI 12 G185 60 Ambs 22 G515 6 HasNsasluBaBs  eeled Sieialm
HlemeLH6MeD LIGVTEIH6NM 6T aueneTUILITLIL all&lSHD

a. 144:484 b. 36:121 c. 48:88 d. 9:55

352

Volume of a hollow sphere is L1352 m. If the outer radius is 8cm. Find the

inner radius of the sphere.

@ o aMeiLBp Carensaler Hear Sieney g &.05.150 1oBpID oiFHer Geuel SILD

8 Q5.5 eailed, DHCHTNIHHE 2 61T DYTHMHH HTCWIH. (zzgmaﬁas)

a.7cm b. 5cm c.10.5 cm d. 12cm

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,

find the volume of the frustum.

45 QF.16 2 _wypeien QT EenLSHewiLSHHel & UB JmiseT (wempGuw 28 GF.16
BB 7 QF .15 6lerle0, BV HHEWIL HH H6T 66

a. 48410cm3 b. 47610 cm3 c. 47310 cm3 d. 48510 cm3

A play-top is in the form of a hemisphere surmounted on a cone. The
diameter of the hemisphere is 3.6 cm. The total height of the play-top is 4.2
cm. Find its total surface area.

@@ elewemun (b ubugoreigk  (Top) awbier g SewysEGsmend Semewihs
algaled o eengl. DMISECasTenSHent all L b 3.6 GF.6 oB@Ibd UbUFSSHer 6LoTsHs
o wgh 4.2 GF.15 ealed DIHeT OOTHHL LUBLUTLIDUS ST,

a. 12.33 zcm? b.11.887 cm?2 . 14287z cm?  d.13.687 cm?

A hollow cylindrical pipe is of length 40 cm. Its internal and external radii are
4 cm and 12 cm respectively. It is melted and cast into a solid cylinder of

length 20 cm. Find the radius of the new solid.
R 2 6efLmm 2 (hewem eugeud GWTulem Herd 40 GF.16. 9IHT 2 6T LBHID
Oeuell o ImIEeT (WeBGw 4 OF.15 wBpID 12 GF.5 SeuayeTefLBB o (Hevend
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ST o m&sUULBG 20 5.5 penweten Hewio GBT eulL o (HeeNWITs
LMBoBIbCUTEH S HGID LUHW 2 (Hewemulea! LTHeNHd HT6wIHb.
a.16 cm b. 12 cm c. 18 cm d.24 cm

Curved surface area of solid sphere is 24 cm? If the sphere is divided into two
hemispheres, then the total surface area of one of the hemisphere is

R  Hewind CarensHer  euemenugly 24 QF2  obFH  CamendHmm B
SITECHTenmISMTH  LflisaHTed Sl s  enjsHBarenmisbeiled  eeirdein
QLTS SUTLIL

a. 12cm? b. 8 cm? c. 16 cm? d. 18 cm?

A cubical block of side 7 cm is surmounted by a hemisphere. Find the surface
area of the solid

7 QF15 LSS SleeyelTeNl HAFFHITHH N BFH T DIMTHEHT6ND OUIT(HHSH UGS,
GT&N60 DISHSHWILDSH S0 LIBLILTLIL| SHT6W0IS.

a. 343 cm? b. 332.5 cm? c. 313.25 cm? d. 322.75 cm?

Two circular cylinders are formed by rolling two rectangular aluminium
sheets each of dimensions 12m, length and 5m breadth, one by rolling along
its length and the other along its width. Find the ratio of their curved surface
areas

12 5 menupb, 5 15 SBeopd  OFmewi G  OFeleud  eugel
SIVIO NS SHTETHMET  @Q6TeDB  [HTHMS DQUILIDLWITS  CaTemiB, LoBOBT6EIDI
SBVHMS  DlQLILdLWTEH  OBmewibld  SipBmieusHer  cpeold &  Chieul L
® (HEWeN&H6NT 2 (HeUTHSHLILIBH BT 6160 DleuBMlel aUeneTILTLILBEHDHEG enl Gul
© 6l aI&ISHID

a.12:5 b. 5:12 c. 25:144 d. None of these

The lateral surface area of a cube of side 12cm is
12 Q5.5 U SeTadLU Q(h SOIFFHITHIHeT LSSIUTLIL?
a. 144cm?2 b. 196cm?2 c. 576cm? d. 664cm?

Find the cost of renovating the walls and the floor of a hall that measures 10m
x 45m x 6m. If the cost is Rs 48 per square meter.
105 X 45 1§ X 6 15 ufloTewmisemneT 2 LW @(h DenBullel el WBBDID Hen]

UsIIISaLILUGHBH. @ FHT WLLHESG h 48 ealed, G CTHHF 6CFeve)
616116)61T6) ?

a. Rs. 51180 b. Rs. 52,380 c. Rs. 53380 d. Rs. 53280

Three metallic cubes of side 3cm, 4 cm, and 5 cm respectively are melted and
are recast into a single cube. Find the total surface area of the new cube.

3 GF.15, 4 OQF.15, 5 Q5.0 Ubs SDETDLU QIh SOFFHTHMS 2 (Hh&H hH
WP HOTFHTLD GFiLlLTe0 9i%HeT OLomdgriugliy?

a. 343 cm? b. 125 cm?2 c. 64 cm? d. 216 cm?




A container is in the shape of a cube of a side 20 cm. How much sugar can it

hold?

QM UTHAHTD SHOIFFHT alalaleTend. HET LSS Sene] 20 5.5 g
(P(LPAUGILOTS  6IAIGU6NTE| FThHM] OlBTeTEHLD?

a. 6400 cm3 b. 5600 cm3 c. 400 cm3 d. 8000 cm3

An oil funnel of tin sheet consists of a cylindrical portion 10 cm long attached
to a frustum of a cone. If the total height is 22 cm, the diameter of the
cylindrical portion be 8cm and the diameter of the top of the funnel be 18 cm,
then find the area of the tin sheet required to make the funnel.

R bl @l édemwild, 10 QF.I5  Hen(peien @M 2 (HEWETUL 63T
BemeubHLIULLL  elewiGeuill  Yeiedest  Oomdhd o wgld 22 0515 oG
o (Hewenufledt @l L 1lb 8 OF.15 woBmiIb Lereler Gumus el 18 GF.0 eeile,
LeoTene0 2 _(HauTdhsd CHemeuwmedl HBJ S ewL Ulledt LTLIenLIS HTewIsb.

a. 782.57 cm? b. 772.57cm? c. 778.57 cm?2 d. 767.57 cm?

A conical flask is full of water. The flask has base radius r units and height h
units, the water poured into a cylindrical flask of base radius xr units. Find
the height of water in the cylindrical flask.
(PEOWLWITS BITeL HFbLIueTen @@h &nlbl eugeud GBeneuule SUJLD 7 DIGVE D6
BB 2 WD /1 SeGH6T G, BITAIGHI XTI DI6OGHH6T  SLJ(LP6iTem  OBOBT(H
® (HEwe 6algaud GBHeMeud@ IBMLUILLLTE [Bifledl @ WD SHTewnlsH.

n e A d N

. C2 C. — D=
3X h 3X 3X

Radius and height of a right circular cone and that of a right circular cylinder
are respectively, equal. If the volume of the cylinder is 120 cm3, then the
volume of the cone is equal to

@ GChTau'Ld gniby wBpid GhiTeul L o (Hememullel SO 2 wiFpd (penpGul
FIDID ©_(Hewemuledt Hem ojemey 120 GF.15° eailed, FnlDLIGT HeT Si6Ma)]

a. 1200 cm? b. 360 cm3 c. 40 cm? d. 90 cm?

If the total surface area of a solid hemisphere is 12zcm? then its curved
surface area is equal to

12 7 Qg 15°CQrS ST BTNl &Hewid SIenTECHTENSHH 6 aUENETLITLIL]

a. 67 cm? b. 247 cm? c. 36 7 cm? d. 87 cm?2

A solid having six equal square faces is called a

B FHITLLSHSRIS6NTE0 LT @ HewroGLo DG LD.
a. cube b. cuboid c. square d. rectangle

The quantity of space occupied by a body is its
@ wuufliomenr o (heud LBoeuaiuled emLSHHH 6HT6TEHD D66
a. area b. length c. volume d. TS.A
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